
TYPHOON PRO

Key Description Product Code Qty Required

1 4 PIN PLUG - PRO 62071 1

2 FLOATING CABLE - PRO 62072 1

3 SEALING GROMMET 62002 2

4 HANDLE ASSY - PRO 62073 1

5 CLEVIS PIN - PRO 62075 2

6 SWIVEL ASSY FOR CABLE - PRO 62077 1

7 COTTER RING 3/16 AB/UBT 62078 2

8 BODY ASSY - PRO 62079 1

9 SCREW #8 X 1.175 PH PN 62007 4

10 SCREW #6 32*5/8"" S/S 62009 4

11 OUTLET TOP - PRO 62080 1

12 P-CLIP 1/2"" 62031 1



Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au

TYPHOON PRO

Key Description Product Code Qty Required

14 HANDLE BRACKET - PRO 62081 2

15 SPRING 62055 8

16 BRACKET LOWER - PRO 62082 1

17 SCREW #8 X 11/16"" PHIL 62011 16

18 SCREW #8 11/16"" PHIL 62012 4

19 RUBBER VALVE 62016 4

21 LOCK TAB NATURAL - PRO 62084 4

23 HEX NUT LOCK M4 S/S 62010 4

24 TRIM PANEL - PRO 62085 4

25 SIDE PLATE YL - PRO 62086 2

26 MOLYBDENUM BUSHING 62018 8

27 TENSION WHEEL - PRO 62087 4

28 PULLRY ASSY 67.5MM 62088 2

29 DRIVE BELT BLUE - PRO 62089 2

30 INFRA RED SENSOR - PRO 62090 2

31 IR HOLDER WITH SCREWS - PRO 62091 2

32 MASTER MOTOR - PRO 62092 1

33 SLAVE MOTOR - PRO 62093 1

34 PUMP MOTOR - PRO 62094 1

37 WHEEL TUBE ASSY - PRO 62095 4

39 AXEL 0.499"" X 526MM - PRO 62096 2

40 DELRIN WASHER - PRO 62097 2

41 BOTTOM LID ASSY - PRO 62098 1

42 PVA BRUSH - PRO 62099 4

42 FLAT DELRIN WASHER - PRO 62100 4

43 FILTER SCREEN ASSY - PRO 62101 1

44 FILTER BAG - PRO 62102 1

45 BOTTOM LID VALVE - PRO 62103 2

46 PROPELLER 62033 1

47 SCREW M3 X 10 62034 1

55 SHRINK TUBE 20/6 62047 1mt

56 SHRINK TUBE 33/8 62104 1mt

66 REMOTE CONTROL 62105 1

67 POWER SUPPLY -TYPHOON PRO 62106 1

68 PLASTIC HANDLE 62107 1

69 POWER CORD 62108 1

71 CAP WITH CHAIN 62109 1

75 S/S ANTENA FOR PSU 62110 1

16A BRACKET LOWER (CABLE) - PRO 62083 1

36A CASE FOR PIN 62029 2

4A HANDLE INSERT - PRO 62074 2

5A WASHER 1.2MM HANDLE PIN - PRO 62076 2

Not shown GROVE PIN 1/2"" X 5/8"" S/S 62048 1


